50, will be treated as malpractice.

g blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 4248

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin
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FlrstSémester MBA Degree Examinaﬁep: Dec.2019/Jan.2020

Business Statistics an‘v’d‘Analytics

« Max. Marks:100
Note: 1. Answer any FOUR full questzons Jrom Q. No.] to 7.
2. O.No. 8 is compulsory. i

Give the importance of statistics mBusmess and Management ¢ (03 Marks)
The following table gives the welghts of 31 persons in a sample enquiry. Calculate the mean
weight using i) Geometric mean and i) Harmonic mean.

Weights (/bs) | 130 | 135 | 140 [ 145 | 146.] 148 149 | 150 | 157
No of persons <23 | 4| 6 6 A3 5 2 |1 1

v (07 Marks)
Goals scored by two teams A and Bina football season were as shown in the below table.
By calculatlng the coefficient of variation in each case, find which team is more consistent:

[ No of goals scored 1n a. match No of matches
A team | B team

0 27 17

s 9 9

’3 N 5

4 4 3
. ¢ (10 Marks)
List the measures of central tendency Also gwe thelr uses. : (03 Marks)

Calculate Spearman’s rank correlatlon coefﬁ01ent between advert1sernent cost and sales
from the following data: » »

Adcost(OOORs) : 39 65 62 |90 | 82| 752598 |36]78
Sales(lakths) :5,‘4'7_” 53158 | 8662468609151 ]84

(07 Marks)
From the data given below ﬁnd
1) The two regression coefﬁments
ii) Thetwo regression equations
:Viii) " The coefficient of correlation between the marks in economics and statistics.
“1v)" The most likely marks in statistics: when marks in economics are 30.
}° Marks in Economics | : 25 | 28 [35[32[31[36[29]38]34 [ 32
Marks in statistics |43 | 46 | 49 | 41 | 36 | 32 | 31 | 30 3339
) PN (10 Marks)

The folloi;s/fng’ ’Eable gives the age d

Age(in years) | : 16-20 | 21-25 | 26-30 | 31-36 = A FER FHyAL

No. of persons: | 10 15 | 17 8 e B
Calculate range and the coefficient of range. (03 Marks)
What is correlation? Explain the types of correlation. (07 Marks)

From the followmg table calculate the coefficient of correlation by Karl Pearson’s method.

’ Xx|6|2 (1048

yl9|11| 72|87

Anthmetlc Ineans of x and y series are 6 and 8 respectively. (10 Marks)
g 1 of3
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What is regression analysis? Distinguish between simple and niultiple regressions. (03 Marks)
Compute the seasonal index for the following data assummg ‘that there is no need to adjust
the data for the trend. (07 Marks)
Quarter | 1990 | 1991 | 1992 | 19_93 1994 | 1995
1 35 | 3.5 | 3540 | 41 | 42
2 39 | 41 |39 46 | 44 | 46
3 34 | 37 |.37 | 38 | 42 | 43
4 3.6 | 48 (.40 | 45 | 45 | 47 ¢
A systematic sample of 100 pages was: taken from the Oxford Dictionary and the observed
frequency distribution of foreign words per page was found to be as follows:
No. of foreign words' j}er page (x):| :0 | 1 |2 |3]4]5]6
Frequency (f) 148 | 27+ ;1{,2\' 71411
Calculate the expected frequenbtes using Poisson distributiénf (10 Marks)

What is a random Vartable? lee the dlfference between discrete and continuous random
variable. S, ' 4 (03 Marks)
The average test marks In a particular class is 79 The standard deviation is 5. If the marks
are distributed normally, how many students in a class 0f 200 did not receive marks between
75 and 82?7 ¢

Given: P(0 £z< 7) 0.2580 P(0<z < 8) 02881 P(0<z<.6)=0.2257

Where Zis a standard normal variable. - (07 Marks)
The followmg table shows the age: dlstrlbutlon of persons in a particular region:

Age (years)’| No of persons (in thousands)
Below 10 7
Below 20 BN
“Below 30 1'_ 9
Below 40 p 2.7 12
| Below 50 14
Below60 | . " 15
Below 70 i{. * 15.5
70 and over.| - 15.6 ;

1) Find the median age |
i) ~ Why is the median a more suitable measure of central tendency than the mean in this
case'7 ~ _, (10 Marks)

; ,_,{Fotir‘ cards are drawn at random from a pagk;’df’SZ cards. Find the probability that:
“4)  They are a king,a queen, a jack and an ace
i) Two are kmvs and two are aces’

i) All are dlamonds : (03 Marks)
What is time'series analysis? Explatn the uses of it. (07 Marks)
A project: has the following activities:

| Activity: < 1-21-3]1-4]2-5|3-5|4-6]|5-6

Duration (days) : | 2 4 3 1 6 5 7

i)  Draw the network diagram

i)  Find critical path and total project duration

iil) Find earhest start time, latest start time, earliest finish time and latest finish time.

(10 Marks)

P
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What are looping and dangling errors in network? L85 (03 Marks)
Find the basic feasible solution for the following transportatlon problern using VAM:
estination :
Diolin [ | II III IV | Supply
A 4 | 648 |13 50
B 13411410 | 8 70
C 14.| 4| 10 |13 30 |
D 9 [11] 13 | 8] S50
Demand 25 351105120 :
(07 Marks)
Fit a linear trend to the followmg data by the least squared rnethod
Year .. | :1990 [ 1992 | 1994 | 1996 199%
Production (in.-000 units) | :18 | 21 |23 | 27 | 16
Also estimate the productlon for the year 1999. é (10 Marks)
Find the initial basic feas1ble solution for the given transportatlon problem using.
1) Northwest corner method
ii)  Least cost method )
Distribution centre
Pl Q| R | S |Supply
A L1210 ] 12 |13 500
Plant BAL 7 |11 | 8 "__\.14 300
A€ | 6 | 16 | 11407 | 200
Demand 180 150 350.} 320 | 1000
e o i (10 Marks)

Use the graphical method to solve the ’followmCr LPP
Maximize Z = 40x; + 80x2 :
Subject to Constraints

(i) 2x1 + 3% <48

(iif) x <10 S : - 4 Tl

and X1, X2 =0 ‘ 4 A% (10 Marks)

¥k ok kK2

30f3






